IB Pre HIL Exit Slip and IB Questions Name:
Calculator is okay.
1 A survey was conducted to deteradne the length of time, 7. in punates, people took

o dosok therr eoffee m oa cafd, The mfonmation & shows i the following grouped

(/

frequency table

Thne, / Number of
{Endmuies) People
Gfss 3
RS 4] 5
Wargis 12
Barsa 20 14
WrarL2s is
2530 b3,
{a} Wnie down the total number of people whe were surveved. 5 L{: Iy
by Write down the mud-urterval value for the 10 <1 215 group. = Iy £

i) Fiod an estimate of the mean Hime peoples 0ok 0 dnnk thewr coffee,
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The udormation above has been rewritien as a cummdative freguency fable.
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frequency

(dy  Write down the value of 2 and the value of b,

¢
ey Fof the people who were surveved, use the graph fo estimate

e

f1)  the fime taken for the frst 40 people o drink their coffee; S0p A8

OR () A
i) the mamber of people who ke less than § minstes to drisk their coffd— oo
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(i) the pumber of people who ke more than 23 mintes to drink their coffes,
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This information is shown in fhe following cunnilative frequency gyaph

dig Aad e A,

g




3

A

Dardel grows apples and chooses at random a sample of 100 apples rom his hatvest
He measures the diameters of the apples to the nearest con. The following table shows the
distnbution of the diameters.

Diameter 5 6 - 8 9
{to the nearest cmy
Freguency 15 27 33 17 &

() Lsing your graphic diapiay calouiator, write down the value of
{i the mean of the diameters in this sample; C{ {}"g o

(iy  the standard deviation of the diameters in this sample. (7. 438 (s

The following table shows the number of bicycles, ¥, produced daily by a factory and their
fotal production cost, ¥, i LS doliars (USD). The {able shows data recorded aver seven
days

Davt | Dav2 | Day 3 Day4 | Dayvs  Day 6 | Day T

Mumber of bicycles, x ¥z iz t4 i7 20 18 21

Production cost, ¥ 3600 | 4680 | 4100 | 5300 | 6004 | 3400 | 6060

{ay (1) Wrile down the Pearson’s produckmoment comretation coeflicient, 1| for these

data. X L e e
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piy  Hence comment on the resulc Y L
Sherg | pesiie
(by  Write down the equation of the regression line ¥ on x for these data, i the form
y=ax+ bl 3 o
g 0K YT
{cy  Estimate the {ofal cost, {o the nearest U5 of producing 13 bioyeles on a particular

day.
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Notes: Show your work for the standard deviation and the Perason’s correlation coefficient, and then confirm the answers by use of

calculator.



